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Note : Answer all the so Hon,  rr, per the directions ,-;i -c ,cn 

in each section. 

SECTION - A 

Answer any two I/nestle/1,4 from this ,ection in shout 
500 words each : 	 2x20=10 

1. Flow is unemployment measured in India ? 
Discuss briefly the nature or status of employment 
in India. 

2. Discuss the main features of Indian Financial 
System. What are the basic elements of a strategy 
for its restructuring ? 

3. Outline the causes of low productivity in Indian 
agriculture. What measures can be suggested to 
increase agricultural productivity in India ? 

4. Do you think 'trade' can contribute to reduce 
unemployment and poverty ? Give your 
arguments for and against this proposition. 
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SECTION - B 

A 11SWer any our questions from this section in about 
250 words ('null. 	 12x4=48 

5. Outline the elements of the scheme suggested by 
Dr. B.R. Ambedkar for organising agriculture as 
a state activity ? 

6. Discuss the trends in 'rate of domestic saving' in 
the post-2000 years in India. How does it compare 
with its trend in the earlier decades ? 

7. What were the specific recommendations made 
by Chellaiah's Tax Reforms Committee (1991) on 
Direct Taxes ? 

8. What are the arguments, for and against, made 
on SEZs ? 

9. Explain briefly any six 'methods of protection' 
adopted to protect domestic industries from 
foreign competition. 

10. Briefly explain the three major causes of poor 
health conditions of Indian people. 
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SECTION - C 

Answer any two questions in about 100 winds each : 6x2=12 

11. Write a short note on Dadabhai Naoroji's 'The 
Drain Theory'. 

12. Distinguish between 'conditional' and 
'unconditional federal grants'. 

13. Write a note on competition Act, 2003. 

14. What is meant by Gender Bias in education ? 
Which indicator brings out this inequity ? 
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